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Gen eral In struc tions :

1. Candidate must write his/her Roll Number on the first page of the question  paper.

2. Please check the question paper to verify that the total pages and total  number of questions contained 

in the paper are the same as those printed on the top of the first page. Also check to see that the

questions are in sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the

specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 50/HIS/2, Set u on the answer-book.

5. (a) The question paper is in English/Hindi medium only. However, if you wish, you can answer in

any one of the languages listed below :

Eng lish, Hindi, Urdu, Punjabi, Ben gali, Tamil, Malayalam, Kannada, Tel ugu, Mara thi,

Oriya, Guja rati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, San skrit and Sindhi.

You are re quired to in di cate the lan guage you have cho sen to an swer in the box pro vided in the

an swer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the

responsibility for any errors/mistakes in understanding the question will be yours only.

gm_m›` AZwXoe Ö
1. narjmWu ‡ÌZ-nÃ Ho$ nhbo n•> na AnZm AZwH´$_mßH$ AdÌ` {bI|ü&
2. H•$n`m ‡ÌZ-nÃ H$mo Om±M b| {H$ nÃ Ho$ Hw$b n•>m| VWm ‡ÌZm| H$s CVZr hr gßª`m h° {OVZr ‡W_ n•> Ho$ g~go D$na N>nr h°ü& Bg ~mV H$s

Om±M ^r H$a b| {H$ ‡ÌZ H´${_H$ Í$n _| h¢ü&
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Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions in Section ‘A’ are compulsory.

(iii) Section ‘B’ has two options. Candidates are required to attempt questions

from one option only.

(iv) Marks of each question are indicated against it.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZ A{Zdm ©̀ h¢ü&

(iii) I S> "~' _| Xmo {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

(iv) ‡À òH$ ‡ÌZ Ho$ AßH$ CgHo$ gm_Zo Aß{H$V h¢ü&

SEC TION–A

I S>–A

1. According to Karl Marx, what does politics mean? 2

H$mb© _mäg© Ho$ AZwgma amOZr{V H$m ä`m AW© h°?

2. Explain sovereignty as an element of State. 2

‡^wgŒmm H$m AW© am¡` Ho$ EH$ VŒd Ho$ Í$n _| ÒnÔ> H$s{OEü&

3. What is meant by single integrated judicial system? 2

EH$b EH$sH•$V ›`m` ‡Umbr go ä`m A{^‡m` h°?
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4. State any two financial powers of the Governor of a State. 1×2=2

am¡` Ho$ am¡`nmb H$s {H$›ht Xmo {dŒmr` e{∫$`m| H$m CÑoI H$s{OEü&

5. Assess the role of Gram Panchayat in improving the sanitation and cleanliness

of a village. 2

Jm±d H$s Òd¿N>Vm VWm g\$mB© H$mo CfiV ~Zm`o aIZo _| J´m_ nßMm`V H$s ^y{_H$m H$m AmH$bZ H$s{OEü&

6. In what respect is the proportional representation system considered better

than the simple majority system? 2

AmZwnm{VH$ ‡{V{Z{YÀd ‡Umbr H$mo gm_m›` ~h˛_V ‡Umbr go {H$g AmYma na ~ohVa g_Pm OmVm h°?

7. Mention any two electoral reforms introduced in India. 1×2=2

^maV _| bmJy (‡ÒVm{dV) {H$E JE {H$›ht Xmo MwZmd gwYmam| H$m CÑoI H$s{OEü&

8. What was the boundary dispute between India and China in 1950s? 2

1950 Ho$ XeH$ _| ^maV Am°a MrZ Ho$ ~rM gr_m-{ddmX ä`m Wm?

9. Assess the impact of nuclear tests conducted by both India and Pakistan. 2

^maV VWm nm{H$ÒVmZ XmoZm| ¤mam {H$E JE na_mUw narjUm| Ho$ ‡^md H$m AmH$bZ H$s{OEü&

10. Bring out any five distinctions between State and Society. 1×5=5

am¡` VWm g_mO _| {H$›ht nm±M A›Vam| H$mo ÒnÔ> H$s{OEü&

11. Evaluate the role of liberalism as an exponent of democratic Government and

the concept of limited State. 2½+2½=5

bmoH$Vmp›ÃH$ gaH$ma VWm gr{_V am¡` H$s AdYmaUm Ho$ ‡{VnmXH$ Ho$ Í$n _| CXmadmX H$s ^y{_H$m H$m
_yÎ`mßH$Z H$s{OEü&
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12. What is meant by Fundamental Rights? Mention the six freedoms given under

the Right to Freedom. 2+3=5

_m°{bH$ A{YH$mam| go ä`m A{^‡m` h°? ÒdV›ÃVm Ho$ A{YH$ma Ho$ A›VJ©V Xr JB© N>Ö ÒdV›ÃVmAm| H$m
CÑoI H$s{OEü&

13. In a bicameral legislature, which House of the State Legisalature is more

powerful and why? 5

{H$gr {¤gXZr` {d⁄m{`H$m _| am¡` {dYmZ_ S>b H$m H$m°Z-gm gXZ A{YH$ e{∫$embr hmoVm h° Am°a ä`m|?

14. Examine the role of caste in the Indian society. 5

^maVr` g_mO _| Om{V H$s ^y{_H$m H$m narjU H$s{OEü&

15. Highlight any five significant measures taken at the international level to fulfil

the commitment to protect the environment. 1×5=5

n`m©daU H$s gwajm Ho$ {bE ‡{V~’Vm H$mo nyam H$aZo hoVw A›Vam©Ô¥>r` ÒVa na {H$E JE {H$›ht nm±M _hŒdnyU©
Cnm`m| H$mo COmJa H$s{OEü&

16. Explain the concept of Human Rights. Identify any three features which are

common to all the categories of Human Rights. 2+3=5

_mZdm{YH$mam| H$s AdYmaUm H$mo ÒnÔ> H$s{OEü& _mZdm{YH$mam| H$s g^r lo{U`m| _| EH$g_mZ nmB© OmZo dmbr
{H$›ht VrZ {deofVmAm| H$s nhMmZ H$s{OEü&

17. “The framers of the Indian Constitution modified the true spirit of federalism by 

incorporating certain non-federal features in it.” Justify the statement by giving 

any four examples from the Indian Constitution. 2×4=8

OR

Examine the situations under which President’s Rule can be imposed in a

State. Evaluate the aftereffects of such an imposition of emergency. 8

""Hw$N> J°a-gßKdmXr {deofVmAm| H$m g_mdoe H$aHo$ ^maVr` gß{dYmZ Ho$ {Z_m©VmAm| Zo gßKdmX H$s gÉr ^mdZm 
_| gßemoYZ H$a S>mbmü&'' ^maVr` gß{dYmZ go {H$›ht Mma CXmhaUm| ¤mam Bg H$WZ H$s nw{Ô> H$s{OEü&

AWdm

Eogr n[apÒW{V`m| H$m narjU H$s{OE {OZHo$ hmoVo {H$gr am¡` _| amÔ¥>n{V emgZ bmJy {H$`m Om gH$Vm h°ü& Bg
‡H$ma H$s AmnmVpÒW{V Ho$ bJZo Ho$ ~mX nãS>Zo dmbo ‡^mdm| H$m _yÎ`mßH$Z H$s{OEü&
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18. Explain the legislative powers of the President of India. 8

OR                  

What is a Money Bill? How is it passed in the Parliament? 2+6=8

^maV Ho$ amÔ¥>n{V H$s {dYm`r e{∫$`m| H$s Ï`mª`m H$s{OEü&

AWdm                                                    

YZ-{dYo`H$ ä`m hmoVm h°? Bgo gßgX _| {H$g ‡H$ma nm[aV {H$`m OmVm h°?

19. Analyze the evolution of party system in India. 8

OR                                     

Suggest any four measures for correcting regional imbalances in India and

explain how the same can be implemented effectively. 2×4=8

^maV _| Xbr` Ï`dÒWm Ho$ {dH$mg H$m {dÌbofU H$s{OEü&

AWdm                                               

^maV _| joÃr` AgßVwbZm| H$mo Xya H$aZo Ho$ {bE H$moB© Mma Cnm` gwPmBE VWm ÒnÔ> H$s{OE {H$ B›h| ‡^mdr T>ßJ 
go H°$go bmJy {H$`m Om gH$Vm h°ü&

20. Explain any four major concerns in India’s foreign policy in the post-Cold War

period. 2×4=8

OR

Explain the Indo-US relations after the end of the Cold War in 1990. 8

erV ẁ’H$mb Ho$ ~mX ^maV H$s {dXoe Zr{V Ho$ {H$›ht Mma ‡_wI _w‘m| H$s Ï`mª`m H$s{OEü&

AWdm              

1990 _| erV`w’ Ho$ nÌMmV≤, ^maV-A_o[aH$s gÂ~›Ym| H$s Ï`mª`m H$s{OEü&
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SEC TION–B

I S>–~

OP TION–I

{dH$În–I

( World Or der and the United Na tions )

( {dÌd Ï`dÒWm Am°a gß`w∫$ amÔ¥> )

21. Examine the international situation which gave birth to the Non-Aligned

Movement. 2

JwQ>-{Zanoj Am›XmobZ H$mo O›_ XoZo dmbr A›Vam©Ô¥>r` n[apÒW{V H$m narjU H$s{OEü&

22. Explain the composition and the functions of the UN Security Council. 2+3=5

gß`w∫$ amÔ¥> gwajm n[afX≤ H$s aMZm VWm BgHo$ H$m`m] H$s Ï`mª`m H$s{OEü&

23. Describe the four main aspects of the United Nations’ activities which have

made our world somewhat peaceful. Give at least one example for each. 2×4=8

OR

What are the specialized agencies of the United Nations? Mention the names of

any four such agencies and describe the functions of any one of them.

2+(2+4)=8

h_mao {dÌd H$mo Hw$N> gr_m VH$ emp›V_` ~ZmZo dmbr gß ẁ∫$ amÔ¥> H$s J{V{d{Y`m| Ho$ Mma _wª` nhbwAm| H$m
dU©Z H$s{OEü& ‡À`oH$ J{V{d{Y H$m H$_-go-H$_ EH$ CXmhaU Xr{OEü&

AWdm

gß`w∫$ amÔ¥> Ho$ {d{eÔ> A{^H$aU ä`m hmoVo h¢? Bg ‡H$ma Ho$ {H$›ht Mma A{^H$aUm| Ho$ Zm_ {b{IE VWm {H$gr 
EH$ Ho$ H$m`m] H$m dU©Z H$s{OEü&
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OP TION–II

{dH$În–II

( Ad min is tra tive Sys tem in In dia )

( ^maV H$s ‡emg{ZH$ Ï`dÒWm )

21. Describe the composition of the Union Public Service Commission. 2

Ho$›–r` bmoH$ godm Am`moJ Ho$ JR>Z H$m dU©Z H$s{OEü&

22. (a) Explain any three advantages of having a Commission type of organization 

for the recruitment of civil servants. 3

(b) Why should such a Commission have a constitutional status? 2

(H$) {g{db gd]Q≤>g H$s ^Vu Ho$ {bE Am`moJ H$s Vah H$s gßÒWm Ho$ hmoZo go ‡m· {H$›ht VrZ bm^m| H$s
Ï`mª`m H$s{OEü&

(I) Bg Vah Ho$ Am`moJ H$s gßd°Ym{ZH$ pÒW{V ä`m| hmoZr Mm{hE?

23. What is meant by bureaucracy? Mention any six characteristics of an ideal type 

of bureaucracy as suggested by Max Weber. 2+6=8

OR

What is the importance of redressal of grievances in a democracy? Describe the 

functioning of any three instruments of redressal in India. 2+6=8

Zm°H$aemhr go ä`m A{^‡m` h°? _°äg do~a ¤mam gwPm`r J`r AmXe© Zm°H$aemhr H$s {H$›ht N>Ö {deofVmAm| H$m 
CÑoI H$s{OEü&

AWdm

bmoH$V›Ã _| bmoH$ {eH$m`Vm| Ho$ {ZdmaU H$m ä`m _hŒd h°? ^maV _| Cnb„Y bmoH$ {eH$m`V {ZdmaU Ho$
{H$›ht VrZ CnH$aUm| H$s H$m`©‡Umbr H$m dU©Z H$s{OEü&

H H H
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